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Question 56 ( Topic 1) 2

When operating under optimal network conditions, which of the following has the HIGHEST
reliability?

A. Bluetooth

B. Wired
C. Cellular
D. WiFi
Answer : B
Question 57 ( Topic 1) 2

While browsing the Internet, a user receives a warning regarding the display of mixed
content. The address bar includes https, and the lock symbol is showing. Which of the
following does this warning indicate about the website?

A. It stores data in cache or cookies, but not both.
B. It requires login credentials for some sections.
C. It contains both secure and non-secure parts.
D. It is best viewed with a different browser.
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Answer : C

Question 58 ( Topic 1) 2

An employees new computer came with a free 30-day trial version of antivirus software.
The employees company provides enterprise antivirus software from a different vendor.
Which of the following should the employee do in order to use a full version of antivirus
software?

A. Enter the company product key for the antivirus software, enabling the full version.
B. Uninstall the current version antivirus software and install the company version.

C. Verify Internet connectivity and run online virus scanning software.

D. Update the trial antivirus software to the latest version.

Answer : B

Question 59 ( Topic 1) »

When trying to activate the operating system, a user receives a notice that the software is
not genuine. Which of the following security threats has occurred?

A. Social engineering
B. Phishing

C. Virus attack

D. License theft
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Answer : D

Question 60 ( Topic 1) 2

An employees new computer came with a free 30-day trial version of antivirus software.
The employees company provides enterprise antivirus software from a different vendor.
Which of the following should the employee do in order to use a full version of antivirus
software?

A. Enter the company product key for the antivirus software, enabling the full version.
B. Uninstall the current version antivirus software and install the company version.

C. Verify Internet connectivity and run online virus scanning software.

D. Update the trial antivirus software to the latest version.

Answer : B
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